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78 2,503| H25 3,800 4,900/ | 1-6 B 10 B C B B B B B B
24 374| H26 2,100/ | 1-0 D 100 A B D D D D D D
T 24 1,140 H27 9,500 9,900|| 2-2 C 27 C B C C C C B c
81 2,761 H28 5,100 5,800 2.1 B 16 B A B B B B B B
9 216 H16 700 1,300/ | 0-3 D _ _ B D B D D D D
15 251| H18 2,600 4,100/ | 1.5 c _ _ A c A c c c c
9 253| H20 3,600/ | 1-8 D _ _ B D B D B D D
24 856| H22 4,600] | 1-4 D _ _ c D C D A D D
17 860 H23 44,000 45,700| | 3-2 B _ _ D B D B B A B
7 243| H24 53,600/ | 10-5 A _ _ D A D A C A A
5 341| H25 6,600 7,800 1.6 B _ _ A B A B D B B
6 364| H26 5,900| | 2-5 c _ _ (o c c c D c c
2 583| H27 5,400 | 2-0 D _ _ D B D D D c D
8 544| H28 4,500/ | 1-7 D _ _ D A D D D D D
2 296 H29 4,500 11,700| | 1-6 B _ _ B B B B B B B
14 223| H20 2,800 4,600/ | 1-0 c _ _ B c B c c c c
3 261 H21 5,500 6,900 2.2 B _ _ A D A B B B B
24 1,054| H23 5,900 12,200| | 4-4 A _ _ A D A A A A A
14 126| H24 43,500 45,500 4.8 B _ _ B B B B B A B
18 150| H22 42,600|| 4-2 (o _ _ B c A c c B c
50 177 H23 4,600 8,200/ | 1-8 A _ _ B A B A B B A
12 614| H24 7,400 | 3-3 C _ _ C c c c A c c
19 870/ H28 5,600[ | 1-9 C _ _ C C C C D c c
19 828| H25 3,800 4,300 1.4 D _ _ D D D D B D D
24 102| H26 3,800 4,000/ | 0-9 B _ _ C B D B C C B
9 233| H29 5,000 | 2-3 B _ _ B B B B B B B
2 79| H27 6,200 9,400/ | 2-8 A _ _ A A A A D A A
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